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Section : General English

Q.1 Choose the word that means the sa

Jovial
Ans X A. Creepy Q
< B. Occult b
«” C. Merry Q
25 D. Tame ‘b
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Q.2 Choose the

Dress with medals, ribbons w
Ans & A Regalia

< B. Almanac
< C. Dilettante
25 D. Maudlin
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Q.3 Rearrange the parts of the sentence in correct order.

P: Nothing is too small for him to miss.

Q: He has a maddening attention to detail.

R: Ramesh’s personality sets him apart from the rest of his friends.
S: This is what makes him a different guy.

Ans X A RSPQ
X B.PQSR 2
X C.SPQR
« D.RQPS
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Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choo
correct alternative.

A bouquet of red roses ______ a refreshing smell in the morning. & &
Ans  # A gives $
75 B.give
7% C. have
25 D. were

Q.5 In the given question, four words are given out of which o
the correctly spelt word.

Ans X A. Tempestious

«# B. Tempestuous
25 C. Tempastus
25 D. Tempestous
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n it. If there is r, choose ‘No

: 3$ ror (4)
N

Q.6 Find the part of the given sentence
error’.

The two first chapters (1)/ wi
Ans X A2

X B.3
o C.1
X D.4
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Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

In recent years, the practice of (1)/using memes to incite (2)/divisiveness have rapidly
escalated (3)/.No error (4)

Ans X A2
X B.1
& C3 &
X D.4

: 1034352690

Q.8 Rearrange the parts of the sentence in correct order.

Possibly the poor creature

P: Had been trampled by an elephant
Q: As a gesture towards his

R: Had gone into the jungle one day
S: Blood thirsty companions and

Ans X A QSRP
 B.RPSQ
o C.RQSP
 D. PQSR

Q.9 Choose the word that is opposite in meaning to the gi

Advertence
Ans X A. Artlessness

«# B. Obliviousness
25 C. Cognizance
#< D. Advisement
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Q.10 Select the most appropriate o e jment in the given
sentence. If no substitution i
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Q.11 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To jump the light
Ans X A. To restrain the orders
75 B. To miss an opportunity
7% C. To be very happy

" D. To violate the traffic rules

ion ID : 1034352701

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.

His broken arm is insensible of feelings.
Ans X A. Noimprovement

" B.insensible to
75 C.insensible about
2< D.insensible for

Question 352691

Q.13 In the given question, four words are given out of which one
the correctly spelt word.

Ans X A. Elissit

ly spelt. Choose

0N

&
75 B. Ellicit §
75 C. Ellissit ‘
o D. Elicit | A

Q.14 In the following question, out of the gi
expresses the meaning of the Idiom

To lose ground
Ans X A. Tolose money

75 B. Todie
4" C. To lose importanc
25 D. To have no cl
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Q.15 A sentence ed with an appropriate word. Choose the
correct alter

With two
Ans X A sweet

" B.swift
25 C.silent
75 D. lofty
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Q.16
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Universities are being urged to seize the opportunity of expanding into India where reforms

will radically change the country’s higher education sector in the next decade.

In a new report, the British Council said India’s tertiary-age population will be the world’s third
largest by 2020, behind only China and the United States. Ambitious plans by the government
to expand university enrolment from 18% to 30%, means India needs to provide 14m extra
university places by then.

The report comes after the latest figures on UK university admissions showed the number c'ﬂ» ‘
Indian students heading to the UK halved in the last two years. The UK has registered its first
drop in international students, of 1%, for courses starting in 2012-2013. Universities have
blamed the fall on a restrictive immigration policy.

The British Council’s researchers interviewed a range of Indian academics and higher
education professionals for their report. Many said the UK should broaden its horizons w.
considering ways to partner with Indian higher education institutions, or risk losing out.
“Historically, we've been able to forge a deeper and more substantial relationships wi
American universities,” said Professor C. Raj Kumar, vice chancellor of O.P. Jindal Glo
University in India. “I've always felt that there is a case for this kind of engagemen

regulated, with foreign universities restricted from setting up campuses.
the research collaboration between the UK and India has been with “tier 1"
Institutes of National Importance, through programmes such as the UK-India
Research Initiative. But these top level institutions only represent 2.6% of
enrol in India. The vast majority come through either private, or state insti

universities would do well to start partnering with these state insti

bulk of Indian students.

SubQuestion No : 16

According to the given passage, which of the following stz
< A.India’s tertiary-age population will be less than Cf

75 B. In the present scenario, India’s higher educatig

7% C. The British Council researchers interviewegd
education professionals.

«# D. The UK has registered its second drop
starting in 2012-2013.
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Comprehension:
Read the following information carefully and answer the given questions.

Universities are being urged to seize the opportunity of expanding into India where reforms
will radically change the country’s higher education sector in the next decade.

In a new report, the British Council said India’s tertiary-age population will be the world’s third
largest by 2020, behind only China and the United States. Ambitious plans by the government
to expand university enrolment from 18% to 30%, means India needs to provide 14m extra
university places by then.

The report comes after the latest figures on UK university admissions showed the number G'f\%
Indian students heading to the UK halved in the last two years. The UK has registered its first
drop in international students, of 1%, for courses starting in 2012-2013. Universities have
blamed the fall on a restrictive immigration policy.

The British Council’s researchers interviewed a range of Indian academics and higher
education professionals for their report. Many said the UK should broaden its horizons w.
considering ways to partner with Indian higher education institutions, or risk losing out.
“Historically, we've been able to forge a deeper and more substantial relationships wi
American universities,” said Professor C. Raj Kumar, vice chancellor of O.P. Jindal G
University in India. “I've always felt that there is a case for this kind of engagemen
deepened with British universities.” At the moment, India’s higher education sectg
regulated, with foreign universities restricted from setting up campuses. Unti
the research collaboration between the UK and India has been with “tier 1"
Institutes of National Importance, through programmes such as the UK-Indi
Research Initiative. But these top level institutions only represent 2.6% of
enrol in India. The vast majority come through either private, or state inst

Quality control of these colleges has been a constant problem, although has ste q@
since the government made accreditation mandatory in 2013. The r.
universities would do well to start partnering with these state insti 0

bulk of Indian students.

SubQuestion No : 17
Q.17 Choose the word which can replace the given word meanir

Ans X A Subdue "‘%
25 B. Narrow &

" C. Augment

75 D. Condemn

D
Ko
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Comprehension:
Read the following information carefully and answer the given questions.

Universities are being urged to seize the opportunity of expanding into India where reforms

will radically change the country’s higher education sector in the next decade.

In a new report, the British Council said India’s tertiary-age population will be the world’s third
largest by 2020, behind only China and the United States. Ambitious plans by the government
to expand university enrolment from 18% to 30%, means India needs to provide 14m extra
university places by then.

The report comes after the latest figures on UK university admissions showed the number G'f\% ‘
Indian students heading to the UK halved in the last two years. The UK has registered its first
drop in international students, of 1%, for courses starting in 2012-2013. Universities have
blamed the fall on a restrictive immigration policy.

The British Council’s researchers interviewed a range of Indian academics and higher
education professionals for their report. Many said the UK should broaden its horizons w.
considering ways to partner with Indian higher education institutions, or risk losing out.
“Historically, we've been able to forge a deeper and more substantial relationships wi
American universities,” said Professor C. Raj Kumar, vice chancellor of O.P. Jindal G
University in India. “I've always felt that there is a case for this kind of engagemen

regulated, with foreign universities restricted from setting up campuses.’
the research collaboration between the UK and India has been with “tier 1"
Institutes of National Importance, through programmes such as the UK-Indi
Research Initiative. But these top level institutions only represent 2.6% of
enrol in India. The vast majority come through either private, or state inst

universities would do well to start partnering with these state insti
bulk of Indian students.

SubQuestion No : 18
Q.18 Choose the word which cannot replace the given word me
Ans  # A Handful

7% B. Burden
7% C. Profuse
75 D. Essence




Comprehension:
Read the following information carefully and answer the given questions.

Universities are being urged to seize the opportunity of expanding into India where reforms
will radically change the country’s higher education sector in the next decade.

In a new report, the British Council said India’s tertiary-age population will be the world’s third
largest by 2020, behind only China and the United States. Ambitious plans by the government
to expand university enrolment from 18% to 30%, means India needs to provide 14m extra
university places by then.

The report comes after the latest figures on UK university admissions showed the number G'f\%
Indian students heading to the UK halved in the last two years. The UK has registered its first
drop in international students, of 1%, for courses starting in 2012-2013. Universities have
blamed the fall on a restrictive immigration policy.

The British Council’s researchers interviewed a range of Indian academics and higher
education professionals for their report. Many said the UK should broaden its horizons w.
considering ways to partner with Indian higher education institutions, or risk losing out.
“Historically, we've been able to forge a deeper and more substantial relationships wi
American universities,” said Professor C. Raj Kumar, vice chancellor of O.P. Jindal G
University in India. “I've always felt that there is a case for this kind of engagemen
deepened with British universities.” At the moment, India’s higher education sectg
regulated, with foreign universities restricted from setting up campuses. Unti
the research collaboration between the UK and India has been with “tier 1"
Institutes of National Importance, through programmes such as the UK-Indi
Research Initiative. But these top level institutions only represent 2.6% of
enrol in India. The vast majority come through either private, or state inst

universities would do well to start partnering with these state ins i
bulk of Indian students.
SubQuestion No : 19

Q.19 What is the central idea of the passage?

Ans X A. It provides arguments related to the constant pro
foreign Universities.

7% B. The given passage highlights few of the amb
75 C. It explains how in coming future Indian Up

«" D. It discusses how radical reforms of Ing

Question ID : 1034352705




Comprehension:
Read the following information carefully and answer the given questions.

Universities are being urged to seize the opportunity of expanding into India where reforms
will radically change the country’s higher education sector in the next decade.

In a new report, the British Council said India’s tertiary-age population will be the world’s third
largest by 2020, behind only China and the United States. Ambitious plans by the government
to expand university enrolment from 18% to 30%, means India needs to provide 14m extra
university places by then.

The report comes after the latest figures on UK university admissions showed the number c'fg’
Indian students heading to the UK halved in the last two years. The UK has registered its first
drop in international students, of 1%, for courses starting in 2012-2013. Universities have
blamed the fall on a restrictive immigration policy.

The British Council’s researchers interviewed a range of Indian academics and higher
education professionals for their report. Many said the UK should broaden its horizons w.
considering ways to partner with Indian higher education institutions, or risk losing out.:
“Historically, we've been able to forge a deeper and more substantial relationships wi
American universities,” said Professor C. Raj Kumar, vice chancellor of O.P. Jindal Glo
University in India. “I've always felt that there is a case for this kind of engagemen
deepened with British universities.” At the moment, India’s higher education sectg
regulated, with foreign universities restricted from setting up campuses. Unti
the research collaboration between the UK and India has been with “tier 1"
Institutes of National Importance, through programmes such as the UK-India
Research Initiative. But these top level institutions only represent 2.6% of
enrol in India. The vast majority come through either private, or state insti

universities would do well to start partnering with these state insti
bulk of Indian students.

SubQuestion No : 20
Q.20 According to a new report, released by the British Council

will be the world’s _____ largest by 2020. . %
Ans X A fifth $
< B. fourth -~
25 C.second "%
« D. third ‘

Question ID : 1034352706

Section : General Hindi

Question ID : 1034352720




Q.2 fRw 7y ere=t Y ©f Y 7ra :fSal
qu+ T
Ans X A quAT
X B.qum
o C.qon
X D &

ion ID : 1034352712

Q.3 Ry 7q arera A IUYGH 2AE T T ek Reh U 6l gfed FifSg)

Qeh-A-Qeh foq T thel ST fArerar g1

Ans o A TR=H
X B.g@ "k
X C. R 6"
725 D.gfaen

Q.4 fa=fafEa us #, Ry 71y ar Rt & 9, 39 faereu a aa7 w2
TdAs ®9 J ==k A gl

Siferat geepre foheaT
Ans o A TRI-ART AT

25 B. GHIT AT

X C.9ga gex gn
25 D. IR &I a1 AT

Q.5 fA=fafae d @ o a1 e @ v TE

Ans o A STfeepTe
7< B. IdH HIA
X C. v
< D. ufesg &rer

Q’
S
)

Question ID : 1034352717

Q.6 f&Q g 21z ahr

deor
Ans X A TR

«* B.fafik
< C. fatenm
K D.gw

o

Question ID : 1034352713




Q.7 FafafEa i & o 3Ra 21 @1 9= RSl

Sad g A anar A gt
Ans X A fda
X B. ffaw
o C.frfm
X D. fffay &

Q ion ID : 1034352714

Q.8 fRy 7y arem # Iugw favm Rig &1 9= RSl

F= erifagde dat
Ans o Al
X 5.0 &
xXc; 6"
X D...

Q.9 fRu Y 2reef # 2[eg add-Nt a1 To= FifSQl
Ans X A ST

< B.STRA

 C. S|

< D.Sd

‘ ’ Question ID : 1034352715

Q.10 Ry 7 arerr & Sugeh farm Rig o1 g+ fif

S e # AT aga ariRar giedt &

Ans o A -
< B.-

xc
XD,

Question ID : 1034352722

Q.11 fafafes aoi § 9 f@s

Ans o A STE TR IGEEH:
X B. g T« et oft
X Cgaad fzafgda
7< D. T & RO R Y 3

Question ID : 1034352719




Q.12 F=fafEa us d, Ry ¢ 9r Rereal # 9, 39 Ao o1 99+ & o1t Ry 7g gerer & sref ot
qdAY ¥ q A<k Hdr gl

HEH UR heH TG
Ans X A g€ gl
7< B. R g
o C. STERUT AT &
75 D. Ty B

ID : 1034352723

Q.13 &g 7y arem 7 fovan wita HifSql

IHTY BT & UTS UedTdr gl
Ans o A TRUMAGR
& B.9IF . "&’
< C. 3mnH® %
X D. W o

Quesﬁ?%usszm

Q.14 Ry g 2t 7 2 o 7ma fifsig)
Ans X A ARETER

 B. g
75 C. a1
< D. e1eus

ég Question ID : 1034352710

Q.15 F=fafEa et d @ S g 74
Ans X A SR & & s ugar siR 3w Ia
o B. & TR ugn ok 3@ 99 w=

Question ID : 1034352718




Comprehension:

Qe TR T 7T 81 IR o SMYR WR Uid U f&Q 7¢ €1 Terier ot eamyden ué a1 Ucidh Ul & IR
fenedt & T 9@ faered g1

FHTER-UF a1 T fAga=a T&a1 ok o7 Suetey A1eq 81 g ufafed Ser-fader & awmem od s=r
fafre gamer & A1 BR-9R UgT SITAT & | SWeRT A S9T ¥ T Bl & [k ag vdes Rféd aafth & sfiem
T ST I T &1 “I5d AIS” RIARIAT I USRI I ATelT UgeT fgal THIER-US 71 38 U,
TSTIR, MR SR STaret Sife THmR U5l e TR gaiT| ST il & THTaR o 9ad sifes

TR Bid & | THMR Ul & 3 ¥ §-&f-ich, TTedTigeh, UTfaieh 3R AT 39 Uehix = hi ufshar
Sifeat gt 81 fasm & fd A snfaseRt & THraR u=f & Ui 8 shifd o e 81 3 R ged  RERF
Ugd ST 61 3 Hearel, 39 31g, 3e7a R, gaTs S7g) iR fafva weiel ok Sueey g 31

JHMRR U GHMER] chl STFehR] & Jai<d e g1 A2 ofk Tehifos @ gammrRl & SiFaR) e sirdig
TR 3% ST o1 T [efRa T 1 378 charel AT A1 ST ST Hehall & | SR U1 H TenTiRId GHTaRl -
T GIAUTIR UG ST TehdT &1 STenT ¥ foif&d 811 81 579 i giaT 81 & chaet Uah fe & forg gt
Iuarht 78t g aifirg 3% fafra SmeRtRat e et & forg awf aes qriera T ST depdT 81 THER Ul
H AT FATER 8 URIId 61 gl SIfUg Sfia o fafe= &= 9§ Hefa ga=mg +ff wenrfid gidt &1

SubQuestion No : 16
Q.16 Iuf~h Terisr a1 2fide ghm?
Ans X A TSH & AgE
X B. & ftwrHga
& C. 99ER U3l &1 A8
X D. A wrHEa

Question.ID : 1034352730

Comprehension:

Qa?TIEITQTﬁTITTRIIT%IT@TQT&?GHWWWWH&'QW%IT@T&Taﬁmﬁ'ﬂjﬁ;ﬂ%aﬂuﬁiﬁuﬂé\?ﬂﬂ
faenedt & T 9@ faened g1 .

GHTIR-UF a1 1 Iy gear $fik Ggst Sucreds QigH & | I8 Ui 33-far & gamri gd e
fafare el & 1Y TR-2R g ST &1 SHH Hod S¥I AT 6idl & 1oh dg T [ard @ifh & sfae
T ST & AT &1 "I AIIS” hicTenldT & UehTIRId Bi alTell Ugell fod! THTER-US 7| 39 USTd,
ST, YRATH 3R ATl SfE THTER U=l <l Hel=T gl STt 3} & FHeR U= Jeid. 3ifdeh
TR Bid & | THMR U1 & 3Fch ¥7 §-2f~ch; FdTigeh, UTfeleh 3= AlfeIch 3 UehI<T hl ufshar
Sifee gicft &1 famm & fa 71w snfserRt & THmER U=t & UM H dhifa o 718 &1 33T ged &t R |
Ugd ST &1 3 Geare, 39 S7g, 309a R, gaTs Sig SR AT il )R Iuas gld 81
THTIR U THTERY hl TRRT & gataq aieq & | fsat ok efifasm & aammri & seart e st &
TR 3% ST o1 TAg MU SiaT 81876 chalel. g1 AT &l Sl HehdT § | FHTER TAAT H Heh1fId FHTERI
! GRAYTTAR UT ST TehdT & | ST1ET [eiled BlaT &1 370 SARAK ST 8 | & chdel Uah fad & farg gt
Iuatt 781 g Siftg 5% faf s SIHeRTRAT UTe eheet o foIg T den gRiera 3T ST TendT &1 THMER Talt
7 T TR E TR A8 g1 1ferg Sfta o faf 85 & T e off s gt &1
SubQuestion No : 17 ‘

Q.17 HF-8 GHMER U7 999 3 Hehiid gid &2

Ans X A. STt
" B. B
2 C. 3t
X0 |

Question ID : 1034352727




Comprehension:

Qe TR T 7T 81 IR o SMYR WR Uid U f&Q 7¢ €1 Terier ot eamgden Ué a1 Ucieh Ul & IR
faenedt & T 9@ faened g1

FHATER-UF a1 T fAga=a T%ar ok o7 Suetey d1eF 81 g ufafed Ser-fager & awmemri od s=r
fafre gamer & A1 BR-9R UgT SITAT & | SR A S9T ¥ T BiaT & fh ag vdes RAfed aafth & sfiem
T ST I T &1 "I5d AT S” PIARIAT I USRI I ATelT UgeT fga! THMER-U 71 38 U,
TSITR, WRATH SR STaret Sfe TAmR U5l e Ui gaiT| ST fidl & SHTaR o 9ad sifds

TR Bid & | THMR U1 & 3Fh ¥ §-2f-ch, TTedTigeh, UTfaieh 37 ATk 3 Ueh1 i ufshar
Sifeat gieht 81 fasm & fa A enfaseRY & TR u=l & uepee 8 shifd o e 81 3 R Ted T sRR T
Ugd ST 1 3 Heard, 39 31gl, 399 R, gaTs 978! iR fafva weiell o Sueey g 31

IR U GHMER] chl STFehR] & ai<d e ¢ 1 32 ofk ehifos @ gamml & sikeaR) e sirdig
TR 3% ST o1 T (R gt 1 S8 charet AT AT ST ST Hehdll & | SR U H TenTiRId GHTaRl -
T GIAUTIIR UGT ST TehdT &1 STenT ¥ fif&d 811 81 379 i giaT 81 & chaet Uah fe & forg gt
Iuarht gt g aifirg 3% fafra SmeRtRat e et & forg awf aes riera T ST depdT 81 THER ual
H AT FATER 8 URIId a1 gl Sifig Sfia= & fafaa &= & defda gemmd ot verfd gt i

SubQuestion No : 18
Q.18 THTERI i Gai<H SRR} T T <RIT &7

Ans X Az
o B. GHER U
X Cc.adH
X D. 7S

Question.ID : 1034352728

Comprehension: ' 3 1
Qeh TN T T 1 Terier & SR WR uta U iy Q€1 Terisn eht earyeieh e dT Ucch U & IR
faenedt § T 9@ faened g1 , ;

GHTIR-UF g1 1 Iy gear 8fik Gest Sucreds QigH & | I8 Ui 33-fadr & gamri gd e
e gamTsi & 1Y TR-TR UgT ST 81 SHeRT Aged S8 S 81T & foh I Ui 1Afard ifwh o sfia=
T ST S T &1 “I&d AT S hieTehTal O HehTIRId gl dTell Ugell fod! THIER-U AT1 $Hch UHTd,
ST, YR 3R ATl SfE THTER U=t <l Hel=T gl STt &) & THeR U= Jaid. 31fdh

TR B & | THMR U1 & 3Fdh =7 §-2f~ch; FIdTigeh, UTfeleh 3R ATfeIch 3 UehI< hl ufshar
Sifee gt &1 famm & A 71w snfseRt & THmER U=t & UM H dhifa o 718 &1 3T ged &t R |
Uga ST &1 3 eare, 39 S1g, 39a R, gaTs Sig SR AT il R Iuas gld 81

YRR U THMER] ! SRR & Jai<ad 918 ¢ | Asar 3k Teifas & THm=Ri 6l SR e S &
TG 3% ST o1 TFg MU §iaT 81876 chael. g1 a7 &l Sl 9ehdT & | FHTER TAT A Hem1iId FHTERI
! GRAYTTAR T ST HehdlT &1 S1ET [TRed BlaT &1 370 ARAF SA1 8 | & chdel Uah fad & farg gt
Iuat 781 g Siftg 5% faf 9 SIHeRTRAT UTe eheet & foIg T den gRiera 3T ST TendT &1 THMER Talt
& o7 TR g TehiRId el g1 sifirg s & faf 8 @ Teifd gammd off genfRia gt 1

SubQuestion No : 19
Q.19 &t T ugen GHER-UF Si--41 U1?
Ans X A WRAfRF
< B. yaitaT
2< C. drarsh
o D. '3 Hikis

Question ID : 1034352726




Comprehension:

ek TEIteT T I 1 TTEIiLT O SR WR Uid U f&Y Y § 1 eI i ey U JUT Uik U & IR
faeredt & € wel faehed g1

THTEIR-US YT T g T%ar oik Tget Iuetsy T1eF 81 g ufafe der-fader & gwmari gd o

A FErsTl & A1y TR-ER UG ST | $Heh Ao S9! 9 A o1 & [ I8 Ucdeh fAf&T eafeh & sfie
I ST S ol 8| “Id ATIS” hieTehTdl U URITRIT B9 aTell Ugell fadl THTER-US UT| §6h UTd,
TSTITHA, YRATHS 3R STaTel SfE FHTER U=t T TehTeT gaiT| 31Tt fgd) & TR U= e 31fdeh
TRITRIA Bid & | THTIR U & 3Tdh ¥ 8-&f-1eh, ATtT(oeh, UTfares 3fR Wi §1ch Heh1a ahi fehar ﬁ'\&
Sifee gt 81 e & AT v snfarserRl § gumaR vl & Ueh1e & shifa o1 718 &1 3 37 wed & ;R |
UgT ST 81 3 Heare, 39 31gl, 3e9a R, gaTs 978! iR fafva weielf o Sueey g 31

AR U5 GHERI Al SRR & garaq gred &1 st ofik Tifas @ gamRi & SHert B
TR I ST o1 GFT AT giaT1 81 378 charel AT a1 &A1 ST HehdT 6 | FHTER U1 A Heh1ird
T GIAUTIAR UG ST TehdT &1 SenT ¥ foifed g1aT 81 579 i gia1 81 3 hael Uk i &
Iuanht gt g aifirg 3% ffra SmeRtRat e et & fore awf aes riera war S depar 21
F o7 AR g TehiRId T gt arfiig sftae & ffers et @ Tefad geamd off v gt &

SubQuestion No : 20
Q.20 FHMER U5 & HeRTiAIT THTER] &1 & F6T gr 82 A
Ans X A Hif@es

&>

« B.fafEa [
75 C. 3% W&
< D. gichfaen m

S)

Quesw: 1034352729

e

Section : Discipline1

Q.1 fF=fafaa & & o= a1 a=3 & afea ok amfe

1. =l R 39 @l Y @t & AT gama e
1. 32 fasiy &0 & @ vieH @

Ans X A Fad
< Bl durll g
Xocoagiagl
o D.&had |

Question ID : 1034352733

Q.2 Ed e d Tadsrar 3
Ans X A dAdI UeHE &

& @ B A1 HUT TE TR 2?
: 3T oAt STeR RepTerar

7< B. Tt gay e Hl dg & i IfET S} a8 AT ATEaT/ e &

X Cca=ia f
" D. &«

Question ID : 1034352732




Q.3 With respect to the eating habits of preschooler which of the following statement is correct?
Ans X A.Both preschooler and infant eats equally in proportion to their size

75 B. The eating habits of preschooler and infants in proportion to their size is random
7% C. Preschooler eats more in proportion to their size than infants

«# D. Preschooler eat less in proportion to their size than infants

g tion ID : 1034352734

Q.4 URMSE aregraen &, 99 &1 9w5a Ef2JdT &1 Uk U 11 Gehel g SR a1 SO T &
IE G GO Y Hehdl & it I8 R HhelT gl

Ans o A fadiTs
X B. Giepiach
< C. gerrge faar
2< D. amIfSieR

Q.6 gl o o sigeh oii wsforat & forg fgan

Ans X A fhat o S Sfedrdl grRom
o B. SieR Traeeft wfgardt emom
72X C. Tt wfeard arom

X D. S SR arRom QO

Question ID : 1034352731

Ans o ATl G

< C.&haa
2K D.AgtlAagl o

Question ID : 1034352744




Q.8 &we uRerl & IR # Fr=faf@a § @ &= a1 Fu= w8t 82

1. SieraTae & R Me fAw TU gt § gurdte f auw g fi dureaar oifdew gidt &
1. faRer & 5=t 9= Rl i @ & e kel orrelt &

Ans X A dad |l
7< B. I qur |l =t

< C.Faa | @
o D.ATE AT

ID : 1034352745

Q.9 f=faf@ad @ w9 ar sy @ 87

1. iz fifer ot ST 2 R e T EaT 81
Il. TR R U= 3reafdeh a=1a T Gehe 34 &1

Ans o A el a&
. Sy
X B. | qur || @t %
X C. o | o Ry
X oD.Agtlarg Ny

N

Ques@. 1034352736

Q.10 The term used for the quality to differentiate between big

ore or less isQ

¥

§.,
D
O

Ans X A. Cardinality
25 B. Centration
" C. Ordinality

275 D. Conservation

hgl ST 8|
Ans X A TG ITAH

o" Question ID : 1034352739
Q.11 HsHTHeh faep™ & < A, AT 31t <Rl Fafeq &7 dT &l

< B. SINTHATHh deh

o C. ShHaGal
25 D. aif gETder

Question ID : 1034352741

Question ID : 1034352748




Q.13 In Baddeley's model a element of working memory that controls the processing of
information.
Ans  # A Central executive

25 B. Medulla
25 C. Spinal cord

25 D. Cerebellum

Qu ID : 1034352742

Q.14 fA=faf@a d @ S 91 URMS aeara®AT & SR G TS SARTfA & Siafd 3mar 82

1. Ftenror
II. uefterl &1 STERT

ll. afersr 1 Rigia
Ans o Al Tl
- &

25 Bl
9

X C.aet |
% D.1awl ﬁt&

Question 34352738

Q.15 FFZHAT T SHATHE el H|
Ans X A. fasdwomees

7 B. amEgiRE "\
5 C. g &
o D. TR

OQ Question ID : 1034352743

Q.16 Which parenting style value self-expres:
Ans X A. Authoritative

25 B. Uninvolved
" C. Permissive
< D. Authoritarian

Question ID : 1034352750

X coagiad
X D. I aur i &=t

Question ID : 1034352740




Q.18 RR Fi s & ar & f[Kfar srufa _____ & IR fneft o1 w0 9 d<ft & mgeagef gt sman @1
1. fRanRTa=T
I1. FeaTareT

Ans o A Sad |
< B.lqurll g
Xocoagiad
25 D.dhad ll @

ion ID : 1034352737

Q.19 fA=fafE@a d @ o 91 W-saurRon & IR & 98 82

1. foneht i erarat oiir weront i aufAreTes A awfiz
1. foret it eraait ofi e A graihTTS AFRS aw iR
Ill. Ig Qeh HTcHeh fAHfor 7g1 &

Ans X A ldlll

&
3

N

& BTl
X coL g
2 D@l

Ques@ 034352749

Q.20 A IreTa<AT # fAFar & aw5of & fohe simshHor i 18T Tk Eol QQ
N

1. ereTgof SmreRHoT *
1. AfARre simeRwor

Ans X A gadl ‘ &
XK B.ATg AT A
o C. &=l OQ
< D. I aur =t ‘

Question ID : 1034352746

Section : Discipline2

Q.1 PR v FufdRERF & da s o e?

1. 221 &y Hared Hir
II. 3=} @Ry

111 uTepferer ST

Ans X A ll@urll
o B.I 11T
X Colaurll
7< D.&had |

Question ID : 1034352755




Q.2 =4 i Rifhear 3= a=ai , st =le a1 Repeiar @ wwfaa §, ) ae=-fhA, s oik Agee
fRaferear & areoy @ weg et 87

Ans X A aEaride Rfear
« B. +ifdes Rifdar
X C. IS Sagiies fafehaar
25 D. are 3u Rifesen

I

Question ID : 1034352758

Q.3 WRa #, Rreperin s=ai & o gehiepa RNen & g &s uraifSa gismn # Aentitia Y
Bill

Ans X A 1992
7 B.1980
& C.1974
< D.1995

Q.4 <9 fRern &, at dgax ghm & == @) fAeres & g
. sfaand ue &1
II. & R 3|7

Ans X A Fad
XoB.Aagargn
X C.%aa |
o D. | 3uT Il S

|

Q.5 Which of the following statement is correct regardin e e-pathshala mobi lication?

I. This application was launched by U ry of Education in 2012@

1. All the digital textbooks of NCER s accessed.
lll. The application interface is avai d Hindi only. w

Ans X A Onlyl
< B.landll

« C.Onlyll
2< D. I, lland IlI

(%
S

Q Question ID : 1034352770

Q.6 fa=fafEad =1 ufafafaa a=a &2
Ans o A B

< B. e o

X C. el

7% D. Reder

Question ID : 1034352762




Q.7 fF=faf@e d @ o= o gemarers gwau wrifa siggfRa snfa & gt & Rereal | anfae
A @ e gef ) Aaifia oA & 7gg o Tehelt 87

I. T= Y SufRAfa 3k ufaeuror f AR Fafaa o @ f st g
1. ST S & =l & ATY 1 HRA & IFHT T JTYR S & fNerert A el

Ans o A | TaTll ST
X B.Fall
X C.dhaa | “*
K oD.Aagtlarg

Q.8 af g=am A aifes fiurdt S fifea @, at ag ____ &l Sizex 9ot Ry T sifeteron w6t
Ans X A ZagR uRada

72X B. &9 hfed e H spfers
75 C. SrEuEigd IS Fe-T AT ge T
«# D. @I e  wan

Q.9 In schools, quantitative data can be in the form of

Ans X A. appraisal
25 B. memorandum
25 C.circulars
«" D. report cards

Q.10 Which type of motivation is driven by an ir

I. Intrinsic motivation
Il. Extrinsic motivation

Ans X A Onlyll
25 B. Neither I nor Il
25 C.Bothland Il

& D.Only|

Question ID : 1034352764

Q.11 a1t foarg ufady &edT g1 59 ifdfaay & siafq,
wefohal i 2

Ans X A.20
& B.18aY
X Cc.22a9
X D.16ad
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. UTSTsh T 3R g g anfay
1. &g a1 Wifaes araTeRor arur A4 g =y
1. frg) Rrerera swrferet # anfier sl o) gamdaft fRrem w g uferor g aifzg

Ans X A llgurlil
o B It
X Colaurl “*
25 D.&had |

Q.13 gg-utsu=af nfaffdai & ___ &) stgaw @ mit @it nfafafaar snfaw &1
Ans o A fRrer

< B. mesit . k
X C.ae-Rare 6’5
X D3

Q.14 fA=fafaa d @ FiF farest R urafaes A @ & fag

1. v afeg
Il. TR

Ans X A Fae |
o B. 1 TuT Il =t
Xcoagiag
25 D.&ad
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Q.15 eher &t Hifaes fRafaal & a=if o

. Bl ot e Fi Fafaa aerE
II. e & arg-Hare & wHt

Ans X A ATEHIATEN
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Q.16 3aeiieh AT A HY ek AT 3R UTepfaeh ugia &1 sraciterTedeh sifm & g &
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1. 39 AT fdm & w9 & oft S S| @1
1. g=1: fRmfor Y niferes ufshan sraeiiereTeres sifdm & enfae gt 81

Ans X A Fae |
X B.&ad I
Xocoagiag
& D. 13l &=t

Q.17 779 goRd Al @ 1857 & fagie o1 Aqea fam am
Ans X A WS

o B. 3@y
X C. feeedt
X D. grieht

Q.18 Information and Communication Technologies comprises of e following ?
components?

I. Information and Communication Infrastructure
Il. Information technology
lll. Communication technology

Ans # Al llandlll
< B.landll
X C.lland
25 D.landll

Q.19 fA:3[eeh 3R sfFard arer fAem
gl

Ans X A S|

X B.3Es
o C. S 3R R ‘§
25 D. Aurerg
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Q.20 fafesr wra
Ans o A 1878

X B.1877
X C.1856
% D.1872
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Section : Discipline3

Q.1 FrfafEa d @ w9 a1 §-uiEwiferat siee &1 a8t sifaeamr =g 82

|. Og Shadl Hehei-ITcHeh 3iehel & foIq SR IRY UeT el &l
1. aEwiforat B & adaT & T 3@ Sl & T ueH wd &1
Ans X A TTglATE
X Bl Il gt
o C.Faa |

2 D. Faa i

Q.2 f=fafaad @ &9 a1 Fya 98 82

. T < =701 & THT =) & AT AT ST WR &= hfed
1. 7T & fRYeror & g frva @1 gATa Agade glar 81

Ans X A Fae |
o B.ATEIATEI
X Ccolauril gt
25 D.dhad ll

Q.3 uafaRor srema | ST o1 SiTeher &ed & fog
ST Hehell 872

. W& de-fier
1. Frsare=t wfiemor
Ans X A ATEHIATEN
" B.13uTll 3=t
< C.aa |

75 D.&had ll

Question ID : 1034352789

Ans X A ¥IR
" B. M3 =8
X C.ART s
X D.88q
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Q.4 TS UG U BieT T Qb
o
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Q.5 fA=fafEa d @ &= a1 sy= 39 dikarei o ufafafda wwar @ it ues g ur &Y s gadt 82

|. RTdH TU | A ATl
1. fawm = o6t ffra o=t F ofik s9eh faudia aRafda w==m
Ans X A ATgtlATEll

7< B.&ad |

o C.laurll =t Q@
X D.&Faa I
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Q.6 AgagAwmgiET__ R
Ans X A &fr- affr drsge

X B. deer e Az
X C. eewt Rorafiin mefaet
 D. T affr mefae

Q.7 fXer EI(1964-66) ZRT WA hetT 10 deh HHTaT I & g A > T
FHUT T 8?7

1. frerrera # ugeft wiTar St ueTrd S TR ag AT ar s
I1. &Y et Tt & gt rem R off smeyfes e a o

Ans X A Fae |
X B.&aa I
Xocoagiagl
o D. 13l gt

.QE
i:';» |
S
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Q.8 f=fafaa d @ &= a1 sy 98l &7

Ans X A adll
XK B.ATEIATE
X C. It &=t
o D. e |
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Q.9 fA=fafaa#d & o "grfior s & =1 N a ugEA A
Qe Tl g1 1 Geh Ageaquf i oy 81"?
Ans X A. Tehad 9fafa
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Q.10 fR=fRET_____ AR =t d@effa wwar g
Ans o A UoT

X B.a&H

X C.OH&

2 D. e

Question ID : 1034352781

Q.11 fA=fafE@a d @ o9 a1 Fu= Tt &2

I. gr G 3R e & g sier T 81
II. FeTit g 3R U S o1 TeR-9ieft ufaeyu g 9w glar &1
Ans X A. Fae |
X B.Fall
o C.aEIagI
7< D. 1 aur 1 &=t

Q.12 f=fafEa d @ &9 a1t wy= 9 82

Ans X A T OaT B & THg 9§ g SfaTST g1 g Uhd 8
7< B. sl § 3MTaTST FehTer ol 3190TY g 3<aT ST & |
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Q.13 fA=faf@a d @ o9 a1 Fu= Tt &2

|. BeTs U Sl bl Teh 1Y AT &1
Ans X A Fad |
X B.&aall

o C.TEIaEI

25 D.laur |l @
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X oB.Aagargn
o C. |l 3urll S
< D.&ad Il

Question ID : 1034352772




Q.15 ke llI-V & fag yafaror sreoae ursashn o I vl & gé-MiE forar man g1 f_fafafaa d
@ I 91 qiaruT 3feaT TSR & 34 faval 7 @ ues a8 87

Ans X A oiH
" B. ST Urenficht
< C. e
2< D. T
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Q.16 fA=fafEa & @ 9 a1 Fu= gt 82

1. Tg g g sifareriifh T @ fon st nftra & uwmor 61 R 9ot wgwygef AR @
1. foreht e & miforetT waToT & ges @ 3ifdes =RuT 481 814 & S Su FuT F auda &

nforhta wu @ heprd Treg T 81

Ans o A Had |
7< B.&ad I "&*
2 colaurl gt %
XK DA A

Q.17 TS ATk {THT ST ATThIHROT &Y uferar @ sraafdes Tefs
. GrEfSIeh enwor
II. s swpfa

Ans X A laarllgHm
2K B.AgIATE
o C.Faet |
X D.&aa I
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Q.18 fA=fafE@a & @ &= a1 i d ges 13 T
Ans X A. 5873 8T faure Y MU @

2< B.78,83 3R 91 @ 3T 7
#< C. 10,15 3iR 85 &I I
o D. 20 T gfeTg Il WehidTa;
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Q.19 ___ % 3rema,

Ans X A el
«" B. et
< C. BT & SrfTHeRT
25 D. srdfera sifenme
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Q.20 R (2002) F IFIFAR A#fF HfFa N wifex & g uia srara & g gee H smaaehar
g1 fA=fafEa 9 @ &9 91 39 sraral § @ uas 781 82

Ans X A 3ifrme i SieerRt
o B. el &l T
X C. avg-asg o1 wrf
75 D. gk Iger

ID : 1034352773

Section : Discipline4

Q.1 3ieEE SZRT T ARSI TS ifd fRigia (1971) safee &t Coic
3iq:forar & wu A T@aT &1
1. gafeRor
Il. TIgR

Ans o A | Tl gt
XoB.agargn
X C.aadll
X D. &ae |

&
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&

ion ID : 1034352810

Q.2 Environmental Studies at primary level possesses so
subjects do not possess. Which of the following are

I. ‘Values’ are an integral component of Environm
1. Environmental Studies is teacher centred.
11l. Environmental Studies is contextual.

Ans X Al lland Il
2 B.only|
X C.llandlll
" D.landlll

Question ID : 1034352792
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Q.4 F=faf@a d @ &= ar sregaa & Oy g S &1 ITANT = &1 AT 1) 82
Ans X A Tg Renfi & fia fasdvonere Ridw & gm e mar §

7% B. g frenffal &t srent avg @ ufafhar 33 & gem =7 &

< C. Ig T GHT hiRTeT ol TeTaT &

o D. T8 Renfial ot Yenet gfRahIvr & SITUT et BT SER YT HedT &
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Q.5 324 wherl 3R Ry i ugfoal d, Feafaf@aa § @ oa-ar g o &1 3 gafea a8 82
1. 3T - gep wTaTht R wifeET e
I1. T - HETET 3R SreuET

Ans o A Sad ||
X oB.agrargn
< C.&aa |
7< D. 1 aur &=t

Q.6 uafaRur sreaa H stiche o g Geft fharar wfien & w=f A 2
&

. 3T eh T R AT ) gatcaiad &ar g
1. = 31U+t IR YAkl Y AgraaT § forg uehd &
. Tr=af & g Qo I THEITSit TR i ahvd §

Ans X A &had |
o BTl
25 colaarlii
X D&l
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Q.7 Pefaf@addsTarsy=T 4

1. nfafafat st e e @
1. 39¥ are-fRare, dw g @

Ans X A ATEHIATENI
X B. Fad |
2 colaunilgat
o D.Faw |l
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Q.8 Qe AmIfSies fas fAerer ArfSies s uteasha & siavfd fareft uar fava &t vem & forg
ATETROT & STAYSTH hl GYSTAT a1 38T 81 fOh A1eeh ot e e ol fofa a7 & uga fAers ot
frafafada d @ g wRe &t s | @1 gh?

1. frerera & == &t gusE
Il. I9g & Iueterrdr
Il. spraf=<ra= # e anra

Ans X A Fae | &
X B.IauIl

& C.LIaurli
25 D laurli

Q.9 =R # & forw nfafaf & e A amear &2

|. BT AT & AT § ARTR AT 8 Urhifies urs U S 9and &1 ‘
1. fRrerrerft ufSerd o= ot G2 3R uure & @ faE™ & e R &1

Ans X A FTEIATE

X B. &l
o C.lTurll = §
X D.&aa |

ion ID : 1034352805

Q.10 foRenRrea=a & a=ATeh 31e0T ohT Si-Teh fordl afofa
Ans X A. e gifeimast
< B.SRY]

5 C.arRe i
& D. Sit. Rielt gfet

Question ID : 1034352809

Q.11 AT dd AT arFHw=

I. 7 39 gf® R s & S
II. 7g Qo Riqeredia srawm
Ans o A Sad |

< B. I aur Il @t
X cagiag
2< D. &t Il
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Q.12 fA=faf@a d @ i+ 91 ugef et o1 uahR &2

I g
II. TYeett 1 BT

Ans X A Fae |
X B A IATE

X C.Faall @
o D. | TuT Il S

ID : 1034352799

Q.13 amIfIe s faat st i et ar fifent & siafa avfiepe favar i derar &1
@ 1 @ wE & & gAfaa 82

1. IE FrIfSies s - |aa famm=
1. sref wrTIfSies famm= - wrnfamm=
II. arfSies fAfgard are e - spie

Ans X A lqurll

&
N

& B3t s
X coL g Q‘?
25 D.&had ll o

Question ID : 1034352797
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Q.14 Debates and discussion are the example of which type
Ans  # A Literary

25 B. Social welfare
7% C. Physical development
25 D. Aesthetic and cultural

Question ID : 1034352803

Q.15 3fiie & fawg o srema & Aty FdaHar

G e &Y Soft & siafa @
Ans X A Gitpfae o

o

72X C. IS o
72X D. anfefes spme

Question ID : 1034352794




Q.16 fA=fafa@a d @ wi= @ nfafafd g nfaew () fawra @t gemEr 24t 87

1. g aret @«
I1. are-fang sik ==t
1. 93 R T&

Ans X A Ll@uil
X B.lail
& C. 1@l &

X D.ldall

).: 1034352806

Q.17 Artist who participate in performing arts in front of an audience are called

Ans  # A. performer
< B.driver ‘
2% C. manufacturer

25 D. manager

A =

Q.18 f=faf@a # @ fFw uge A amiSis s amrfSis srvgaa @

|. 9=

II. gf¥eRior
II1. & T 85

Ans X A adll
o B. | Ilaurlll
2 C. 3t i
X D.lall

Question ID : 1034352795

Q.19 fA=Afaf@a & @ i 4 e aiT @

|. groTaT™

Il. TTER
. ferar

Ans o Al Il
X B.IFwl
X C.liarii
2 D.lar il
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Q.20 o fAeMT R UerR Af&rer Iuafed A Tgraes g and 82

. &etT smemait A e o faenaa @ dgar uesf &d &1
1. et et d e sl # fRiaw Y emar ofdrers gt @1
Ans X A ATgIATE

7< B.&ad |l

& C.1aurll =t Q@
< D.Faa |
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Section : Discipline5

Q.1 fafer= ot & freror & arnfSier fAfgard & ofik 3 arafes Shaw fRfal
319 Geh fAerer & & & 59 Haitil 1 IuTT Gehiepd aich @ fXer ot geran
fafefadd s adfRumg?

1. ggferor ==

1. T
11. SferfoT

Ans X A e lll
< B.&ad |l
o C. I, llar il
X D.lqull
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Q.2 fFrafafla # @ &= a1 wua w8t 87

E Question ID : 1034352826

. SIFEUAT "HTgET i 3R & Sl &
II. Sfie= & R Y arg @ Sfia &

Ans o A ad |
XoB.agarg
X C.laurll gt
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Q3 F=ffRadds= Q

@Nuﬁmﬁ%ﬁmﬂmﬁﬁaﬂanﬁa

fRterent ofiR o= shrferm sferafae st
2

& B.ATEIATEI
X C.Faall
7< D. | ar Il =t
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Q.4 31U Uk fAereh & wu & Rrenera & a=ai, gareil, auwr! onf & g angeiRis srfsa smifsa
TR Fehd & SR T2 fereral o1 axera | oS forar St dehdr 81 39 rishdl Y ugfa
ol Tefid @l g1
. Tk fAen
II. Sieepfaes afafafdai

. TSt
Ans o AL Il TuTII

< B.aa lll
X C.daall
X D.laull

Q.5 Grooming and cleaning comes under which aspect of health?
Ans X A.Emotional health

#< B. Social health
« C. Physical health
25 D. Mental health

Q.6 mﬁuqﬁm@faﬁw;ﬂﬂa@mﬁmaﬁm i)
yfetor 3R aTaaies fAem, eown iR st e,
A st g8 N f Tgwa FA H Fter divd &

Ans o AT T
< B.5d
< c.10d
X D.gdf
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Q.7 Which of the following statement is

I. Implicit in right education is c
1. In right education, the cultiv:
any form of compulsion.

Ans o A Only|
2< B.Bothlandll

intelli
2 ngle only if there is

&
25 C. Neither | nor ‘D

25 D.Only i

Question ID : 1034352822

Q.8 hem A Sl Y HiE
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« B. ST &0 9 U5
75 C. Al ®U bt
< D. gmIfSish 9 § ey
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Ans X A &ad |
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Q.13 8.9 @

Ans

X DR ERES
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Ans X A SRS HIgeR - STafre eref

7% B. @reft A1R - S AN areft arrift

. é Question ID : 1034352816
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